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g (Factorials - MCQ) heet 3
1)  Which of the following is equivalent to \|(7 +20)?
a) 3! b) 3+0! o 33 d) 2!'+1!
6(3) _
2) 2!+ 0! =7
a) 4!-6(2!) b) 4!+ 6(2!) c)  4(3N)+5(2) d (5-2)
3) Which of the follo PREV’IEW
a) (n+1)! d n+1
Gain complete access to the largest
4) Whatis the LcM ofjcollection of worksheets in all subjects!
a) (n-3)! Not 3 member? d) (n-7)
Please sign up to
5) 5!=g(4!) -4, find Sain complete
4ccess,
a) 2!+ 1! d 4'-1!
www.mathworksheets4kids.com
6) Which of the folloy
a) 1131=3(2) b) 3!+3!=6! ¢ 5!=5(4hH-1! d) 5!'-0'=4l
7)  Which of the following is the least number?
a) 2!+0! b) 31-2 ¢ 31-3(2) d 3'-2(2)
N
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